Year 5: Week 4, Day 1

Column addition of 4-digit and 5-digit numbers

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. If possible, watch the PowerPoint presentation
with a teacher or another grown-up.

OR start by carefully reading through the

Learning Reminders.

2. Tackle the questions on the Practice Sheet.

There might be a choice of either Mild (easier) or

Hot (harder)!

Check the answers.

3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?
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4. Think you've cracked it? Whizzed through the Practice Sheets? Have a go

at the Investigation...
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Practice Sheet Mild
Column addition

Look down the additions.

Decide which will have the largest answer. Make a note of it.
Decide which will have the smallest answer. Make a note of it.
Now find each total. Watch out! They do not all need column
additionl

4678 + 2372 + 1352
5234 + 6024 + 3528
43271 + 28,345
32846 + 24,758
63278 + 6831

45734 + 9999
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Practice Sheet Hot
Column addition

Look down the additions.

Decide which will have the largest answer. Make a note of it.
Decide which will have the smallest answer. Make a note of it.
Now find each total. Watch out! They do not all need column
additionl!

4583 + 45,274

8572 + 4782 + 5837
6934 + 5047 + 8739
86489 + 76431

92371 + 30,004

45273 + 23542 + 13,258
45624 + 57432 + 9467

5632 + 3789 + 2745 + 3846
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Practice Sheet Answers

Column addition (mild)

1.

2
3
4.
5
6

4678 + 2372 + 1352 = 8402
5234 + 6024 + 3528 = 14,786
43,271 + 28345 =71,616
32846 + 24,758 = 57,604
63.278 + 6831 =70,109
45,734 + 9999 = 55733

Column addition (hot)

1.

4583 + 45274 = 49,857

8572 + 4782 + 5837 = 19,191

6934 + 5047 + 8739 = 20,720

86489 + 76431 =162920

92371+ 30,004 =122375

45273 + 23,542 + 13,258 = 82073
45624 + 57432, + 9467 = 112523
5632 + 3789 + 2745 + 3846 = 16,012
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A Bit Stuck?
Super scores

Work in pairs

Things you will need:
+ A pencil

What to do:

» Use column addition to work out Jimmy's
total score.

N

&

- Look at the other children's scores. -
Who do you think had the highest total score? ~ 4233

'

~

(o

Who do you think had the lowest total score?
=LAl . Sn LV

» Work as a pair to work out all the total scores
to see if you are right.

65384

=
Sandip 2832

S-f-r-e-t-c-h:
Write an addition of a pair of 4-digit numbers where the answer is

between 8000 and 9000.
Write an addition where the answer is between 3000 and 4000.

Learning outcomes:

- | can use column addition (expanded or compact) to add pairs of four-digit numbers where the
1s are greater than 10, or the 10s are greater than 100 or the 100s are greater than 100.

+ | am beginning to estimate total of 4-digit numbers.

© Hamilton Trust




Investigation
Triple Trouble

Write any addition of three 4-digit numbers where the answer is between 28,550
and 28,650.

Can you find solutions:

. that use dll digits O to 9 at least once;

. where no digit 0 to 9 is used more than twice;
. that use the same number three times...?
What is your strategy for getting into the problem?

Are you using any number patterns to help?

Can you write an explanation of what you did?

© Hamilton Trust
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Year 5: Week 4, Day 2
Written subtraction (1)

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. If possible, watch the PowerPoint presentation
with a teacher or another grown-up.

OR start by carefully reading through the : = =
Learning Reminders. T

2. Tackle the questions on the Practice Sheet.

L‘_ g e —— ————————— ._,\.I
There might be a choice of either Mild (easier) or | e i
Hot (harder)! | iz |
Check the answers. a LI L
3. Finding it tricky? That’s OK... have a go with a [

grown-up at A Bit Stuck?

e

M

4. Think you’ve cracked it? Whizzed through the Practice Sheets? Have a go
at the Investigation...

© Hamilton Trust
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Practice Sheet Answers

A table to show the number of hits on a website (mild)

Sunday 21,046
Monday 4884
Tuesday 11419
Wednesday 8967
Thursday 7861
Friday 25306
Saturday 24925

Subtracting pairs of 5-digit numbers (hot)

1 75369 -35826 = 39,543 . 83,580 - 26317 =57,263
3. 64329 -32876=131.453 : 72463 - 48,725 = 23,738
5. 50,756 - 38,249 = 12,507 s 76371 -24393 =51978
7 62341 - 46586 = 15,755 ) 83.036-34,152 - 48.884

Challenge )

Children will have a range of answers to this challenge. Ensure they have made their first
calculation one which should be done using Frog. HINT it is usually easier to use Frog if the larger
number has 2 or 3 zeros in if. or is close to a multiple of 1000, like 5013.

© Hamilton Trust




A Bit Stuck?
Hops. skips and jumps

Things you will need:
- A pencil

What to do:

- Choose at least four subtractions to work out.
Draw a line from the smaller number to the bigger number.
Use Frog to work out the difference between the two numbers.
» Remember to add up your hops and jumps at the end!

6000 - 5642 6002 - 6938 5000 - 3981
4005 - 3964 9000 - 4567 6001 - 4983
3004 - 2572

W/
(\

6000 - 5642 = ..
o 8 50 300
o / \V/ \v/ \\
o 5642 5650 5700 ____60'00
F

 S-t-r-e-t-c-h: 0
Work out the answers to 6003 — 4579 and 5010 - 3678.
Frog needs to work a bit harder for thesel

— - -

e A € 4 - e & — - — - .

Learning outcomes:
+ | can use Frog to subtract 4-digit numbers from multiples of 1000 (e.g. 4000 — 3786).

- | can use Frog to subtract 4-digit numbers when the larger number has zeros (e.g. 4002 — 3987).
« | am beginning to use Frog to subtract pairs of 4-digit numbers which are further apart from
each other.

© Hamilton Trust
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Investigation -
Mobile differences |
1 2 3 x
4 | 5| 6 3
7 8 9 =
0 ol
‘#‘I
1. Use the mobile phone digit display. \/
2. Create two five-digit numbers using e
these two rules: ] v
O 74125
I Rules l | - 56930 o | B
1. The digits you choose must touch e o~
along a side. So you can choose 65214 [
because each digit touches the next one . i ®
along a side. r— ————
2. You may not use any digit other L &
than 5 more than once. So if 98547 is your » P
first number, then 65214 cannot be your :
second number as 4 is used twice.
[NB. 5 may be used twice, even within the ?
same number, e.g. 52145]. -
X
3. Find the difference between your two numbers.
4. Repeat, choosing two different numbers. 3
5. Find the largest possible difference that you can
make, using two five-digit numbers g
generated according to the above rules. @
Can you demonstrate that this is the largest possible difference? 5
6. Find the smadllest possible difference. (This is much harderl) i
- R R iy [ 7.
= Challenge =
e A \;
Demonstrate that your smallest difference is indeed the smallest.
X
7. Find the difference nearest to 44,444,
o
~

Fd = X Cm?3 ‘_/1, = ¢ > m  x % < 5% - Cm
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Year 5: Week 4, Day 3
Written subtraction (2)

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders. " i
They come from our PowerPoint slides.

L= = == — = {
2 21 22 23 24 28 26 17 22 29 3 |

v
zmmmr
2. Tackle the questions on the Practice Sheet. i
There might be a choice of either Mild (easier)or | == | |
Hot (harder)! | iz oz
Check the answers. LoaEEoEn

3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

.
o &
gl

T B T, T e A

e |
R R R ANy

4. Think you've cracked it? Whizzed through the Practice Sheets? Have a go
at the Investigation...

© Hamilton Trust



Learning Reminders
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Answers
34,784 — 9784 = 26,000
37,806 - 34,928 = 2879
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Practice Sheet Answers

Subtraction practice (mild)

. 64,784 - 21,529 = 43,255 2. 75548 - 43,273 - 32,275

. 86,347 -33720=52627 4. 72583 - 45251 - 27332

. 56,421 - 24175 =32246 6. 92765 - 48308 - 44457

. 45,287 - 38,145 = 7142 There is a difference of 7142 between their
populations.

. 63564-52382=11,182. The car drove 11,182 miles in the last year.

Challenge

There are many possible answers here.

Subtraction practice (hot)

. 57,348 - 3762 =53586 2. 84823 - 6248 =78,575
. 45240 - 2758 = 42,482 4. 83602-7478=76,124
. 52033 - 5674 = 46,359 6. 86,535 - 8645 =77.890
. 73,452 - 5276 = 68,176 views on Sunday.
. 17,177 - 8345 = 8832. The plane has 883 2km further to go.
. 12364 - 1534 - 4245 = 6585. The hot-air balloon is now at an altitude
of 6585 feet.
10. 35,478 - 3448 - 5999 = 26,03 1. The lottery winner has £26,031 left.

Challenge

There are many possible answers here.

© Hamilton Trust




A Bit Stuck?
Jump to Millennia

Things you will need:
- A pencil

What to do:

- Choose at least four subtractions to work out.
Draw a line from the smaller number to the bigger number.
Use Frog to work out the difference between the two numbers.

+ Remember to add up your hops and jumps at the end! At

6002 - 3948 7010 - 6937 5300 - 4965 4005 - 3971
9000 - 5672 6000 - 3583 8000 - 4548

3 50 2000 ol

| | | | |
3948 3950 4000 6000 6002

/
:

C—— e

| S-t-r-e-t-c-h: '+
Write a subtraction where you would use Frog and a subtraction !
\ where you would use another method. |

_——— —-— - - -~— o

Learning outcomes:
« | can use Frog to subtract 4-digit numbers from multiples of 1000 (e.g. 4000 - 3786).
» | can use Frog to subtract 4-digit numbers when the larger number has zeros

(eg. 4002 - 3987, 4020 - 3987, 4200 - 3987).
- | am beginning to decide when to use Frog and when to use another mental method.

© Hamilton Trust



Investigation

What to do:

Write a 5-digit number. Reverse the digits
and write the new number.

235721
reverse - 12F53
339¢%

109290
=z

Subtract the smaller from the larger.

Reverse the digits of the answer and add it
to the new number,

e.g. write 35,721 and subtract 12,753 to
give 22968.

Now reverse the digits and add, i.e. add
22968 and 86922.
What is the answer?

Start with a new number 5-digit number.

-/
~
~
~
~
~
~
~
s
®
&
~
@
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Year 5: Week 4, Day 4
Temperature (1)

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. If possible, watch the PowerPoint presentation SR |
with a teacher or another grown-up. e |

:: 1 — | I

|

OR start by carefully reading through the St T
Learning Reminders. e R A
s 1t 2103 72 Il

ot 1d

2. Tackle the questions on the Practice Sheet.

There might be a choice of either Mild (easier) or ”?fffim“ f
Hot (harder)! 1 == == M
Check the answers. e =2 o |
[ ——
3. Finding it tricky? That’s OK... have a go with a —
grown-up at A Bit Stuck? Wi %
| .
: ] S cmaitad
4. Have I mastered the topic? A few questions to o
Check your understanding. e
Fold the page to hide the answers! :;’, “'"o;

How many tines must Dan multiply 0.048 by 10 to get 48,0007

What number ts ane hundred times smaftes than 0.47

© Hamilton Trust
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Practice Sheets Answers

Temperature (mild)

The temperature drops for each day are:
Monday - 8 degrees

Tuesday - 9 degrees

Wednesday - 7 degrees

Thursday - 8 degrees

Friday - 5 degrees

Temperature (hot)

1. Thursday was the coldest night.

2. Tuesday was the mildest night.

3. On Monday, the temperature fell by 8 degrees.

4. On Friday, the temperature fell by 5 degrees.

5. The temperature rose 6 degrees from Tuesday night to its highest on Wednesday.

6. The temperature rose 7 degrees from Thursday night to its highest on Friday.
7. There is a difference of 13 degrees between the mildest and coldest

© Hamilton Trust




A Bit Stuck? \
Temperatures around the world

. Put these thermometer readings in order, from the lowest temperature to the
highest temperature.

-10° 3° -3° 4° -6° 7° O°

. What might the weather might feel like for some of these temperatures?

. It's Summer here now, but where do you think we might have overnight
negative temperatures in the world at the moment?Use the internet to find
out (e.g. www.bbc.co.uk/weather).

. Make a list of up to ten places with their current temperatures, ordered from
coldest to mildest.

© Hamilton Trust




Check your understanding
Questions

If the temperature starts at 4 degrees and falls 3 degrees each hour from midnight to 6am, what is the
temperature at 6 in the morning?

Today it is minus 3 degrees. What was the temperature yesterday if it was 5 degrees lower than it is
today? Tomorrow they say it will be 10 degrees warmer. What will it be then?

Complete the table

40 _60 _10

Falls 3° 1°

Rises 4°

Fold here to hide answers

Check your understanding
Answers

If the temperature starts at 4 degrees and falls 3 degrees each hour from midnight to 6am, what is the

temperature at 6 in the morning? -14 degrees.
It has fallen a total of 18 degrees and 4 - 18 = -14. Alternatively, count back in steps of 3 on a number line.

Today it is minus 3 degrees. What was the temperature yesterday if it was 5 degrees lower than it is

today? -8 degrees.
Tomorrow they say it will be 10 degrees warmer. What will it be then? 7 degrees.

Children not sure about these should refer to a number line.

Complete the table

40 _60 _10
Falls 3° 1° -9° —4°
Rises 4° 8° -2° 3°

© Hamilton Trust
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Year 5: Week 4, Day 5
Temperature (2)

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders. =
They come from our PowerPoint slides. —

C — [ ===}
2 21 22 23 24 25 26 27 28 19 3

|
2. Tackle the questions on the Practice Sheet. W — :
There might be a choice of either Mild (easier)or [ . 2. ‘5

Hot (harder)! BRI |
Check the answers. FrT R :

it

3. Finding it tricky? That’s OK... have a go with a AR S
grown-up at A Bit Stuck? e e ; N
T

4.  Think you’ve cracked it? Whizzed through the Practice Sheets? Have a go
at the Investigation...

© Hamilton Trust
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Practice Sheet Hot
Negative numbers

At noon, the temperature was 7°C. By midnight the temperature had fallen
by 10°C. What was the temperature at midnight?

& B Y @ »

On Monday the temperature in London was 4°C. In Aberdeen the
temperature was -4°C. What was the difference in temperature?

*
¥

On Tuesday. the temperature in Birmingham was 5°C. It was
8 degrees colder in Glasgow. What was the temperature in Glasgow?

This table shows the maximum and minimum temperatures for a town
in Finland:

Maximum Minimum
temperature temperature

Winter 3°C -23°C
Spring 7°C -10°C
Summer 19°C 6°C
Autumn 11°C -5°C

Season

* @ © H A @

® B Y @ ¥+ ®» o BH Y @

=i
|
=2
2

a) Which season has the lowest minimum temperature?

b) Which of autumn or spring has the lowest minimum temperature?

c) What is the difference between the coldest and warmest temperatures
in winter?

d) What is the difference between the coldest and warmest temperatures
in autumn?

e) Which season has the biggest difference between the maximum and
minimum femperatures?

f) What is the difference between the coldest temperature of the year
and the warmest temperature of the year?

® B A ® * o
$ & B Y @ x

What is the difference between -5 and 7?

What is the difference between -10 and 6?

What is the difference between -4 and 4?

Write a pair of numbers, one negative and one positive with a difference of 5.

Write a pdir of numbers, one negative and one positive with a difference
of 10.

Write a pair of numbers, one negative and one positive with a difference of 7.

A & * & ¢ H A ® * o
YV & % & » B VvV @& &«
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Practice Sheets Answers

Comparing temperatures (mild)

1. The coldest city was Aberdeen.

2. The mildest cities were Cardiff and Belf ast.

3. Glasgow, Edinburgh, Aberdeen, Manchester and Leeds had temperatures
below freezing.
It was 8 degrees colder in Manchester than Belfast.
It was 3 degrees warmer in Birmingham than Edinburgh.
It was 8 degrees colder in Leeds than Exeter.
It was 5 degrees warmer in London than Glasgow.

. There are 11 degrees difference in temperature between the mildest city

and the coldest city.

Challenge:

London and Manchester
Birmingham and Leeds
Exeter and Glasgow
Cardiff and Edinburgh
Belfast and Edinburgh

Negative numbers (hot)

-3°C
8°C
-3°C

a) Winter
b) Spri
c) 26

d) 16
e)Win r
f) 42

12

16

8

eg -3and 2

»

L
2 ¢ B VY @

3

eg -5and5
eg -4and 3

© Hamilton Trust
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A Bit Stuck?
It's freezing!

What to do:

. Mark 8°C and -2°C on the thermometer.

. What is the difference between the two temperatures?

. Your challenge is to find as many pairs of temperatures with
a difference of 10°C as you can. BUT one temperature
must be above 0°C and one below 0°C.

. How many can you find?

—

b P N A eyt W
S-t-r-e-t-c-h: }
L Write some pairs of temperatures with a difference of 20°C. ,'

v

= — T

e




| ’ Z = X Vo * ¢ > x % < % =
o e )
E Investigation
Alternating chains
A Start a chain of positive and v
' negative numbers. ~
o |I Find the sum of the numbers in (| Jred
the chain. Is the sum positive or negative? e
i+ i s fhesump 9 - sum = - |
Y Make the chain one number longer. ], -2 +5
| Find its sum. Is it positive or negative? ~ sum = +2
s i Make the chain one number longer. - + o, 45,4
- Find its sum. Is it positive or negative? ~ sum = -2
o
| Continue like this until you have a m
A+ | chain with 12 numbers.
‘ -
X
| Look at the pattern. Can you predict ‘&
t ot what the sum of a chain of 20 numbers
would be? -
: l ~
B What would the sum of a chain
| e of 21 numbers be?
‘; | Try different types of number in your
& chain, eg. +1, -3, then +1, -3, +5.
X then +1, -3, +5, -7, and so on.
x
Try square numbers... +1, -4, +9, -16, etc.
I
A ‘
|
| -
=
|
2
1
L\
I
B | © Hamilton Trust
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Relative Clauses
Relative clauses can give more information about a noun.

Bumblebee is shrunk to insect-like size. h._.m__ me more about Bumblebee. 4/

Bumblebee, whose suit allows her to fly, is shrunk to insect-like size.

Bumblebee, who can unleash electric stings, is shrunk to insect-like size.

Bumblebee, who fires sonic force blasts, is shrunk to insect-like size.

‘1
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Relative Pronouns
Relative pronouns relate the clause to the noun.

Batman, whose name is Bruce Wayne, wears a special suit.

Batman wears a special suit which protects him from enemies.

He lives in Gotham City where he fights crime and criminals.

Relative Pronouns
who, which, where, when, whose, that
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Relative Clauses

Add information about a noun.
Start it with a relative pronoun.

Wonder Woman wears a pair of metal bracelets.

Relative Pronouns
who, which, where, when, whose, that

I

Try adding a relative clause to this sentence.

" ioeas |

-

Tell me more
about Wonder
Woman or her

bracelets.

< -4

Wonder Woman, who won’t back down from a challenge, wears a pair of metal bracelets.

Wonder Woman wears a pair of metal bracelets that provide her with protection.
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Punctuating Embedded Relative Clauses

Sometimes the relative clause is embedded in the main clause.

main clause

1
f !

Superman shouted at Batman.

The relative clause needs to be next to
the noun: Superman.

I
|
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Punctuating Embedded Relative Clauses

Sometimes the relative clause is embedded in the main clause.

main clause main clause

A 1
I 1 I 1

Superman, who was growing angry, shouted at Batman.

The main clause splits to make space...
for the relative clause.
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Text 2 - Advertising Slogans

J— .
I
g ﬁ > _..= 3 :

Holiday Inn

Pleasing ﬁmﬂm@m
the dﬁuﬂw@. ovel.

m_._m_,m Moments. Share Ehmz

It’s finger lickin’ good!
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Text 4 -
Letter to the Editor (An extract)

Dear Sir,

{ wish to draw your attention to a problem which must be dealt with. Asa local
citizen and park volunteer, | must urge that the council ban ball games in the
park. There are three main reasons why this has to done.

The first and most important reason is the damage caused by ball games. Our
delicate blooms and fragile flowers are squashed and broken every time @ large,
heavy ball is sent blasting through the flowerbeds. These rough games encourage
thoughtless youths t0 skid and slide across our carefully tended lawns, leaving
deep gOUgES like scars. Perhaps thousands of pounds of damage is caused by this

- .

yiolent pastime. How much more money will be wasted pbefore good sense wins?

My second point refers to the risks to vmon_m‘msa animals caused by aggressive
ballgames. The park is used daily by many families with young children and older
people who may be unsteady on their feet. It is clear that balls crossing paths like

. bullets may cause vm.,s:: injuries to those in nocently passing py. What about our
nrecintis wildlife? Onr nark chaiild he 2 cafe haven far the curiotis canirrels and

s e B B
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Text 6 - Protest Placards — 2019 Children’s Strike for Climate Action

T L ]

WE WANT
CHANGE!

TE3 OUR fuitsere

Jt W Qh—_a 3&55—,&&
Jtgin

© Original plan copyright Hamilton Trust, who give permission for it to be adapted as wished by individual users
We refer you to our warning, at the foot of the teach-activs document, about links to other websites.




Reflection Prompts

What is the purpose of each text? How is persuasive writing different to a report?
Who do you think is the audience and why? Use an example to explain why?

Which text is the most effective for you?
Explain why this is.

Can you find examples of word play?

(alliteration, repetition, lists of 3,
simile, contrasting pairs)

What effect does this have? %

Which examples play on our

emotions?
Explain what emotions they Find some examples of powerful noun
want to trigger and why. phrases.

Explain why they are powerful.

© Original plan copyright Hamilton Trust, who give permission for it to be adapted as wished by individual users
We refer you to our warning, at the foot of the teach-activs document, about links to other websites.

What other language tricks of persuasive
writing can you spot?
(exaggeration, rhetorical questions,
opinion presented as fact)

What types of persuasive writing are here?
Which ones are not included?




Reflection Answers

Purpose and audience

Persuasive writing is different to a report — how?

Examples of word play...

Examples that play on our emotions...

Examples of powerful noun phrases

Language tricks

Types of persuasive text

Which is the most effective? Why?

© Original plan copyright Hamilton Trust, who give permission for it to be adapted as wished by individual users

We refer you to our warning, at the foot of the teach-activs document, about links to other websites.
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SENTENCES FROM ADVERTS

F/O/M

© Hamilton Trust
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Transcript for Moonpig Advertisement — (Alternative)

Narrator:

Moonpig flowers, perfect for any occasion, with free next day delivery and a

personalised Moonpig card. Because it’s great to know who your flowers are
from but it’s even better knowing they’re for you.

Beautiful flowers, from Moonpig.

© Hamilton Trust Week 4 Day 4




Transcript for Calgon Advertisement — (Alternative)

Woman 1: [looking at cat disturbed by noisy washing machine] Oh, she’s not happy.

Woman 2: Me neither. My washing machine’s making weird noises and my clothes don’t come out

feeling the same.
Woman 1: My old machine did that.
Washing Machine repairer: [flashback] Might be limescale. You should use Calgon in every wash. A

small amount of limescale inside your machine can affect its performance. Calgon helps keep your

machine working at its best.
Woman 2: And a cleaner washing machine means you’ll get better results.
Woman 1: Now we’ll both sleep better [hugs cat].

Narrator: Leading brands recommended Calgon.

© Hamilton Trust Week 4 Day 4




Transcript for Lindt Advertisement — (Alternative)

Narrator:
This Christmas, our master chocolatiers have lovingly created a special gift
idea: an adorable chocolate bear with its very own heart charm, crafted by

Lindt. When it comes from the heart, show you care with the new bear from

Lindt.

© Hamilton Trust Week 4 Day 4
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Schools should...

Taken from http://www.parentsandteachers.org.uk/resources/what-should-schools-teach
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Write a paragraph

Read the paragraph about cooking lessons. Write a similar paragraph about a new topic.

If we had cooking lessons each week, it could encourage n_\;_o_qmw: to eat more healthy food. Preparing
fresh fruit and vegetables means that children will want to eat them more often. Children are more
likely to try healthy new foods when they have cooked the food themselves. Food cooked by people in
their homes must be more healthy than fast food and takeaways.
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